Yearl Week8 Dayl

Which symbol goes in the circle?

o(—)6=4

Add together S and 4 9
Show 2 + 3 = 5 in the part-whole model.

What is one less than 87? 7
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Write a number sentence to show 8 subtract 3

8-3=09

N
Add 2 more toH 6 — - L
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Write a number sentenceto 3 4+ 3 =6 e

match the part-whole model. 6 — 3 = 3

What number is shown?
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Write down all the ways to make H using addition.
Here is one way. O +4 =Y

+3=4 2+4+2=4 3+ 4 -

Find the missing part. @ G

Which symbol goes in the circle? Y @ H=28

Make 6 on a ten frame.

Has everyone done it the same way?




Write down the fact family for 2 + 8 = 10
24+8=10 0 —2=28

8+2=10 0 —8=2

0=2+4+8 2=10—8

0 =84+ 2 8=10—2

What calculation is shown?

9-6=3

What isH + 5?7 9

What are the next two numbers? U4,5,6,_/ ,_8




ete the number track.

7| 6|5 | H 2 |

Eva has 7 sweets. She gives 6 sweets away.

How many sweets does Eva have left? | sweet

Which is part of the fact family for 8 + | = 9?

9+ 0=9 8 —1=7

What are the next two numbers? 9,8,7 6 , 5




